struct comp { float real;
float imag; };

struct comp add(struct comp a , struct comp b)
{

struct comp c;

c.real=a.real+b.real;

c.imag=a.imag+b.imag;

return c;

}

struct comp a={1,0},b={0,1},c=add(a,b);



struct comp { float real;
float imag; };

void add(struct comp *a , struct comp *b,
struct comp *c)
{

c->real=a->real+b->real;
c->imag=a->imag+b->imag;

}
struct comp a={1,0},b={0,1},c[10];

add(&a,&b,c);
printf("%g\n",c[0].real+c[0].imag);



struct comp3D { struct comp x, vy, z; };
struct comp3D point;

point.x.real=1.;

point.x.imag=0.;

point.y.real=1.;

point.y.imag=1.;

add(&point.x,&point.y,&point.z);
printf("%g %g\n",point.z.real,point.z.imag);

struct comp3D point,*pp=&point;
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int no[20], X, y; int (*jptr)[10], b[10];
int *1ptr[10]; jptr =&b;
iptr[0] = &x; (*iptr)[S]=1;

jptr=&no;  -> warning: assignment from
intr=d: iIncompatible pointer type
printf("%1\n" ,no[0]);
**(ptr+1)=7;

printf("%1\n",no[10]);
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int no[20], (*jptr)[10];

jptr=&no;  -> warning: assignment from

iptr=d: Incompatible pointer type

printf("%1\n" ,no[0]); NAIMD -'7%) yravn

“E(ptr+1)=7; ‘NINWN 7TIA/210 XYY

printf("%i\n",no[10]); void *vptr;

vptr=&no;
jptr=vptr;
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double trapez(double (func) (double), double a, double b)

return h*(func(a)+func(b))/2.: /
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printf(" %1 %1 %01 %1 %1 %1\n", sizeof(char), sizeof(int), sizeof(long),
sizeof(float), sizeof(double), sizeof(long double), sizeof(char*),
sizeof(double™));
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struct comp3D { struct comp X, y, z; };
struct comp3D point;

float grades[2][4];

printf(" %1 %1 %1\n" ,s1zeot grades, sizeof point, sizeof(struct comp));
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(Dynamic memory allocation)
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void *malloc(size_t number_of_bytes);

stdlib.h: unsigned int

int 1, j, *1p; Y an
scanf(“%i”,&j); cast: noun

ip = (int *) malloc(j*sizeof(int)); (type-name) expression

for (i=0; 1<j; 1++) int round(double x) {
ip[i]=10; return (int) (x < 0) ? (x-.5) : (x+.5)); }
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(Dynamic memory allocation)

void *malloc(size_t number_of_bytes);

void free(void™ p);

1p = (int *) malloc(j*sizeof(int));
for (1=0; 1<3; 1++) 1p[1]=10;
free(ip);



